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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

1 |
,/’“1 ! —8— setVI_ETcl
400 I —0— setV|_fgRec |
: | —@— setVI_WN
300 ‘ A v I —&— slSetvl
|/
j ,. '
W ad\ 1;!»_ !
200 m——— 0 A8 12 T 48
e /\ ey 8Y el ccoleconoccccoeeidococccccocl 0088888888
100 : . 22 7o badad b’ | I
M S ae e e of % Y g ' V [ ] :
74 4 A 1
L S 8 I
o I
20 40 60 80



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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P3-9

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:50 283 150.0 2.888 FA| 1BRi%@05:50 B3zh (FKABEREE)
06:50 283 150. 0 2.888 |Z=| {Ri%e06:50 B (KREAEZEHE)
07:50 283 150. 0 2.888 |Z=| 1BRi&e07:50 Bzl (RAERE)
09:00 283 150.0 2.888 |Z=| {Ri&@09:00 Bz (KREAERSE)
10:35 283 150.0 2. 888 FA| 1B2i%@10:35 B3h (kA{EREE)
12:50 283 150. 0 2. 888 FA| 1BRi%@12:50 B3h (RAB{ERSE)
13:45 283 150.0 2.888 FH| 1BRi&@13:45 Bzh (GRAEREE)
14:40 283 150.0 2.888 FA| {Ri%@14:40 Bz CGRAERE)
15:50 283 150.0 2. 888 FA| 1B2i%@15:50 B3h (RkAERSE)
21t 2547.0 (9%) 1350.0 3IHKEC: 2200, PH: 5.8

FEREHERE STEELRTF (184.0 :

2RI\ EPRERE150. 0 ml.
RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[EKECE (1760.0 vs 3963.0) T 5
FRBIFE NS R IFEREC 2200. 0

150.0), FAIEEHT—@E XAH5
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Warning: lcol [FVI',| "FVO’'] missing

B R i Y

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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Warning: col ['M_E'] missing 49.0 -
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Warning: col "MW ] missing
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38. 48 -
38.5 A 38.5 38.51
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P3-9

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

05:45 283 150. 0 2.888 FE| 1Ri%@05:45 Bz (REAERESE)
06:45 283 150.0 2.888 FE| 1RRi%@06:45 B (AR
08:10 283 150. 0 2. 888 BA| {Ri%@08:10 Bz (RAMEEE)
12:35 283 150.0 2.888 K| {Ri&@12:35 Bz (FRAERSE)
13:35 283 150. 0 2. 888 FE| 1Ri%e13:35 Bz (REAERSE)
14:20 283 150.0 2. 888 FA| 1B2i%@14:20 B3h (kBERE)
15:05 283 150.0 2.888 (Z=| {Ri%@15:05 Bz (FRAEHSE)
16:05 283 150. 0 2.888 |Z=| {Ri%e16:05 Bz (REEZEHE)
2it]2264.0 (8%) 1200. 0 3HKEC: 2200, PH: 5.8

FEREHERE STEELRTF (184.0 :

2RI\ EPRERE150. 0 ml.
RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[EKECE (1803.0 vs 4197.0) 5
FRBIFE NS R IFEREC 2200. 0

150.0), FAIEEHT—@E XAH5
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Warning: lcol [FVI',| "FVO’'] missing 80

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2914. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=400, FV0=0 m=435, FV0=0 m=470, FV0=0

52 4 —o— ME 51.01 —o— ME | —o— ME
16 51. 50
50. 5
50 4 51. 25
47 50. 0
51. 00
48 49.5
46 50. 75
49.0
46 45 50. 50
= 48.5 1 50. 25 -
44 —o— M i
T T T T 44 T T T 48 0 - T T T T T T
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m=595,m FV0=0 m=850,m FV0=0 m=880,m FV0=0 m=925,m FV0=0
51.5 & ME | 5104 @ ME 52.0 1 —o— ME —o— ME
52.0 -
50. 5 -
51.0 4 51.5 7 1
50. 0 - 51.51
50. 5 - 51.0 -
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50.0 49.0 50. 5 1
50. 5 -
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T T T 48 0 - T T T T T T T T 50 0 L T T T
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m=985,m FV0=0 m m=400,m FV0=0 m=435,m FV0=0
52.0 - - ME 40 36,04 —@— MW —o— MW
38. 5 -
35.5 3.0
51.5 - 28 .
35.0
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| 34.5
36 37.0 -
50. 5 - 34.0
2 - 36. 5 -
50. 0 - v | 335
¢ - 36. 0 -
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40.5 A —— MW
40.0 A
39.5 A
39.0 A
1 1 1
985 990 995
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P3-9

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:10 283 150. 0 2.888 E[ BRi&e07:10 Bz (GRFAEREIEE
07:40 283 150.0 2.888 F  BRi%e07:40 Bz (GRAERESE)
08:55 283 150.0 2. 888 5| {Ri%@08:55 Bz (KRFAMERSE)
09:45 283 150. 0 2.888 E BRi%e09:45 BE1 (GRAERESE)
10:25 283 150.0 2. 888 F BRige10:25 Bz CGRAERSE)
10:55 283 150.0 2. 888 =l {Ri%@10:55 B3 (REAERSE)
11:25 283 150. 0 2.888 E BRige11:25 Bz CGRAERESE)
11:55 283 150.0 2.888 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2. 888 = {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.888 E BRige12:55 Bz (GRAERERE)
13:25 283 150.0 2. 888 5| {Ri%e13:25 Bz (GRAERSE)
13:55 283 150.0 2. 888 = {RRiB013:55 B (RFAKESE)
14:25 283 150. 0 2.888 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2. 888 5| {Ri%e14:55 B3 (RAERSE)
15:30 283 150.0 2. 888 =l RRiB@15:30 B (RFAEESE)
16:05 283 150.0 2. 888 =l RRiB016:05 Bz (REAKEE)
16:50 283 150. 0 2.888 El BRi&e16:50 Bz CGRAEREEE)
2it] 4811.0 (170%) 2550. 0 EWGHIKEC: 2200, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
#H[EKECE (1847.0 vs 4583.0) 15

REVE WS K iKEC 2200. 0
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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39. 5 A
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0
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m=755,m FV0=0 m=785,m FV0=0
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5 1 38. 5 -

760 765

785 790 795

40.

39.

39.

38.

38.

40.

39.

39.

38.

38.

40.

40.

39.

39.

38.

40 -

38 A

36

A

34 - —o— MW
4(|)0 6(|)0 8(|)0 10|00
m=555,m FV0=0
—-o— MW
0 .
5 .
0 .
5 .
0 T T T
555 560 565
m=695,m FV0=0
—-— MW
0 .
5 -
0 .
5 .
0 .
695 700 705
m=815,m FV0=0
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